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(i1)

WRT &
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(a) % 4,000 (b) =800
¢ % 3,200 @ = 2,000
arerat

tfead fafiee @ T 10 &% & 700 9 &1 =% 10% Hfem
frifia foean e, = 5 o ow (fftrm wiga) &t smeaed Ty qen
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(a) Z 7,000 (b) T 1,400
(c) T 4,900 (d) T 2,100

-~~~ Page 2

1



General Instructions :

Read the following instructions very carefully and strictly follow them :

()
(ii)
(ii1)
(iv)

(v)
(vi)
(vit)
(viii)
(ix)

67/1/3

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given

options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.

Questions no. 17 to 20, 31 and 32 carry 3 marks each.

Questions no. 21, 22 and 33 carry 4 marks each.

Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks

and 2 questions of six marks.

(1)

(i)

PART A

(Accounting for Partnership Firms and Companies)

A company forfeited 400 shares of ¥ 10 each, ¥ 8 per share called
up for non-payment of first call of ¥ 2 per share. On forfeiture of
these shares, ‘Share Capital’ account will be debited with :

(a) T 4,000 (b) ¥ 800
(c) T 3,200 (d ¥ 2,000
OR

Xyle Ltd. forfeited 700 shares of ¥ 10 each issued at a premium of
10% for non-payment of allotment money of I 5 per share
(including premium) and first and final call of ¥ 3 per share. On
forfeiture of these shares, ‘Share Forfeiture Account’ will be
credited with :

(a) < 7,000 (b) ¥ 1,400

(c) T 4,900 (d < 2,100
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F AT @ Th BH § AEIGR I qAT 7 : 1% AJId H ATH-FIH ol fa9=H hid
g | % J Ik fquEl & IRY H T 12,000 i T Fivad afyr 1 smEw
R | TR W 6% e e & =T ITiE fopam STar 2 | 99 & 37d | AW
W IS Y9G i skl Tstre=n gfafse g -

(a)

(b)

(c)

(d)

1)

(i1)

30T 9L ST WAl 1M ¥ 1,800

o 1 Yol Gl < 1,800
3T Y TS QIdT ™ T 1,800

%’ 1 1] @Il < 1,800
% 1 ISl @rd1 T T 1,800

HTEOT W AN el < 1,800
AT TS @ 4 < 1,800

TS T AT @Il < 1,800

Ufed fetfice 7 T 100 Te3sh < 2,000, 9% ol 1w T 95 wfd
OIS O TR | 9% OGSl @Td o 9T 981 § @i hl e

(a) % 1,90,000 (b) = 1,10,000
¢ % 2,00,000 @ = 10,000
arerat

fFrfafea o @ - $99 I@eT 22

(a) SRUTYS 9 SISl Ush WK 7, fai-=ie T8 |
(b) RO i &g W Fifia fohem I Tepan 2 |
(c) SROTYALTRET bl a1 o hT AfeehT T 2 |
(d) T 3§ uiEfaa T8 fRam S aekan |

YFIT(A) : T Teh 3T Y& B |
HRI(R) : Tfd wfosy d smfdrd wumoer ot & 3rfafics et vl &

Tree H Ueh BH ol JiissT &1 0 7 |

feafafaa 5 9 98 faerew =1 =94 hifST

(a)
(b)
(c)
(d)

AP (A) F& 2, T HRT (R) TAd 2 |
AMYHT (A) TeAd 8, T HROT (R) TE 7 |
AfRYT (A) AT HROT (R) SHT G&T 8 |
AfUHAT (A) qUT HROT (R) THT TAd & |
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‘A’ and ‘B’ were partners in a firm sharing profits and losses in the ratio
of 7: 1. ‘A’ withdrew a fixed amount of ¥ 12,000 at the beginning of each
quarter. Interest on drawings is charged @ 6% p.a. The journal entry for

charging interest on drawings at the end of the year will be : 1
(a) Interest on drawings A/c Dr. < 1,800
To A’s Capital A/c < 1,800
(b)  Interest on drawings A/c Dr. T 1,800
To A’s Current A/c < 1,800
(c)  A’s Capital A/c Dr. < 1,800
To Interest on drawings A/c < 1,800
(d)  Profit and Loss Appropriation A/c Dr. ¥ 1,800
To Interest on drawings A/c < 1,800
(1) Rohit Limited issued 2,000, 9% Debentures of ¥ 100 each at T 95
per debenture. 9% Debentures account will be credited by : 1
(a) ¥ 1,90,000 (b) ¥ 1,10,000
(c) T 2,00,000 (d) < 10,000
OR
(ii1)  Which of the following statements is incorrect ? 1

(a)  Interest on debentures is a charge and not an appropriation.
(b)  Debentures can be issued at discount.

(c) Debentureholders do not have voting rights.

(d)  Debentures cannot be converted into shares.

Assertion (A) : Goodwill is a intangible asset.

Reason (R):  Goodwill is the value of the reputation of a firm in respect
of profits expected in future, over and above the normal
profits. I

Select the correct answer from the following :

(a)  Assertion (A) is correct, but Reason (R) is wrong.

(b)  Assertion (A) is wrong, but Reason (R) is correct.

(c) Both Assertion (A) and Reason (R) are correct.

(d)  Both Assertion (A) and Reason (R) are wrong.

~~~~ Page 5 P.T.O.
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(a) (1) 3R (iv)
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) (), (iii) 9T (iv)
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M1 qAT ST Teh BH H ATSIGR @ qAT 2: 1 IJUId H ATHI 1 [ HTSH
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ShicrdT, |l ddm 7Y Teh BH H Areigr off a1 39! ISt shus: T 6,00,000,
T 4,00,000 AT T 2,00,000 i | ISt W 10% TMH G & S & o 9991q.
AT o7 Toare 9 Jeer 4 o

EACKI] % qT, g % T QAT 0y % T | shiadl 5 SATRTd ®9 § T &
fop @t # =foar &1 9w g | AN 9IRGB o 9vEr fREl oft 9§ |
T 1,00,000 ¥ 7 T B |

St W S YW W O Y 31 ", 2022 H GHTH BN a1 a9 § o
Z 3,00,000 T |

gfeardt =1 @1y O 9rT T <h qfst 9 w5 o
(a) T 40,000 b) T 70,000
(¢) T 20,000 (d ¥ 10,000
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5. Which of the following will be transferred to Realisation Account at the
time of dissolution of firm ? 1

(1) Provision for Doubtful Debts
(11) Partners’ Loan

(111) General Reserve
(iv)  Goodwill

(a) (1) and (iv)

(b) (1), (ii) and (iv)
(¢) (@), (i) and (iv)
(d) (i), (i1) and (iii)

6. Akshita and Anurag are partners in a firm sharing profits in the ratio of
2 : 1. Akshat is admitted in the firm with % share in profits. Akshat

acquires % of his share from Akshita and % of his share from Anurag.

The new profit sharing ratio of Akshita, Anurag and Akshat will be : 1
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 d 4:2:3

Read the following hypothetical situation and answer questions number
7 and 8 on the basis of the given information :

Kavita, Savita and Madhu were partners in a firm with capitals of
< 6,00,000, ¥ 4,00,000 and < 2,00,000 respectively. After providing
interest on capital @ 10% p.a., the profits are divisible as follows :

Kavita %, Savita % and Madhu % Kavita personally guaranteed that
Savita’s share of profit after charging interest on capital would not be

less than ¥ 1,00,000 in any year.

The profit for the year ending 315 March, 2022 amounted to ¥ 3,00,000
before providing interest on capital.

7. Savita’s share of profit is short of the guaranteed amount by : 1
(a) ¥ 40,000 (b) ¥ 70,000
(c) < 20,000 (d < 10,000

67/1/3 ~~~ Page 7 P.T.O.



10.

11.
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®H o Hol AT I TR T T T THEISH L o 9= d1giei J T
Tomam STTET

(a) IAdT T 60,000, FIAT T 40,000 T 7Y T 20,000

(b)  faal T 50,000, Ffadr T 1,00,000 a2 7Y T 30,000

(c)  hiadl T 60,000, Ffadr T 90,000 TAT 7Y T 30,000

(d) faar T 60,000, Ffa@ T 1,00,000 92T 7Y T 20,000

TR, | T A T H H AISIR & a1 4 : 3 : 2 % 3TIId § A1l
foveH ®d @ | 9 SaTHgd @ T 9YT Se qedl STevEesh qHTieH],
RE R % AT 9 qIAIaT o JAHYNU o U9dTd 38 Yol @Id T I
T 4,00,000 ® | TG qe faT 38k g o qui fueH § 38 T 4,60,000 H
WTAH i o TIC g0 21 T | | 31 HaTH-ea T S 6l ST | 3Heh1 9T
-

(a) < 20,000 (b) ¥ 60,000

(c) < 1,80,000 (d) < 1,20,000

3T, SMYR AT AT HEER & T 3:2:1 % I H i 1 faumsH
F A | 1 A, 2022 HI AN BH H HAHIA B T | AT H
Harghd 61 fafy W fefa foewor amw-giie @rd o 9™ 98 § T 1,20,000
Y S TN AT | ST i ¢F THRT I AT Hid T9F 39 I hI gl
WTGTQTIT:

(a)  STOF AT LR ok Yot @Al o AW 97 H G A9-fI9== o7qama # |
(b) A, YR AT AT o Yoit @i o A9 9 H H v -fqume=

IUE T |
(c) 3T qUT YR o Yol @Al < ST 981 H ¢ AH-fIwTsH 7gama # |
(d) 3O QT STYR o GSit @Il o =T 9&1 H I ATy ura | |

(i) o, Y AT IR Teh B H AISIGR & AT 4 : 3 : 1 I H ATH-FIH 1
fawrsH i o | 1 Taer, 2022 &0 9 h g 7 g | R R gg H
fafsr <t wH & @t hi TOET T 80,000 H S | & ATH ok W R
AT o Sire
(a) ATH-BI W@Td o 98 98T 4 T 40,000 sl T hieh |
(b) AW-BIH i e @ & 9™ & § T 40,000 I G Heh |
(¢) ATH-IH 3fd @WId o 99 987 § T 80,000 shH Wl Thieh |

(d) MBI =0 G & AW 9 H T 40,000 hH G Hh |
arera
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8. The total profits of the firm after adjustment of guaranteed amount will
be distributed between the partners as : 1
(a) Kavita ¥ 60,000, Savita ¥ 40,000 and Madhu < 20,000
(b) Kavita ¥ 50,000, Savita T 1,00,000 and Madhu ¥ 30,000
(c) Kavita T 60,000, Savita T 90,000 and Madhu ¥ 30,000
(d) Kavita ¥ 60,000, Savita T 1,00,000 and Madhu ¥ 20,000

9. Gaurav, Sonu and Anita are partners in a firm sharing profits in the
ratio of 4 : 3 : 2. Sonu retires and the balance in his capital account after
making necessary adjustments on account of reserves, revaluation of
assets and re-assessment of liabilities is ¥ 4,00,000. Gaurav and Anita
agreed to pay him ¥ 4,60,000 in full settlement of his claim. Sonu’s share

of goodwill of the firm, on his retirement is : 1
(a) < 20,000 (b) ¥ 60,000
(c) T 1,80,000 (d < 1,20,000

10. Aman, Aadhar and Avinash were partners and sharing profits in the
ratio of 3 : 2 : 1. Avinash retired from the firm on 15t July, 2022. On the
date of Avinash’s retirement, the Balance Sheet showed a debit balance
of ¥ 1,20,000 in the Profit and Loss Account. For calculating the amount
payable to Avinash, this balance will be transferred : 1

(a)  To the debit side of the capital accounts of Aman and Aadhar in old
profit sharing ratio.

(b) To the debit side of the capital accounts of Aman, Aadhar and
Avinash in old profit sharing ratio.

(c) To the credit side of the capital accounts of Aman and Aadhar in
new profit sharing ratio.

(d) To the credit side of the capital accounts of Aman and Aadhar in
their gaining ratio.

11. @) P, Q and R were partners in a firm sharing profits and losses in
the ratio of 4 : 3 : 1. P died on 15! September, 2022. On the date of
P’s death, the profits of the firm were calculated as ¥ 80,000. P’s
share of profit will be adjusted by : 1

(a)  Debiting Profit and Loss Account with ¥ 40,000.

(b)  Debiting Profit and Loss Appropriation Account by ¥ 40,000.
(c) Debiting Profit and Loss Suspense Account with ¥ 80,000.
(d)  Debiting Profit and Loss Suspense Account with ¥ 40,000.

OR

67/1/3 ~~~ Page 9 P.T.O.



12.

13.

14.

67/1/3

(i1)

oo, fiar qon SAfar U ®H H WIEER 9 997 3:2:1 % UG H
ATH-ETH T Ta9ToH id o | O |aTHgd &l 715 3TR 3HehT HFT T qer
AT g IustsTer ot mar | far qen 1fHar o1 T3 o faveE

eI
(a) 2:1 (b) 7:5

(0 1:1 (d) 3:2

FrTfaa ISt b1 98 Wi 8 ot hadt THOH o W & HET 8, el @ ¢

(a)
(b)
(c)
(d)

RUEEICL
I el
fmifera osf

I R IF TH BH H HRGR @ | I 4 1 JAE, 2021 H FH H
T 6,00,000 T U7 TeIT | IeRT his TEICH] Hoi@ &l o1 | 31 A, 2022 i

3T R0 R i a1 =919 b fm Tfst <61 gher o

(a)
(c)

1)

(ii)

Z 36,000 (b) T 18,000
Z 9,000 @ T 27,000
feT qen i1 Tk wH H "EeR B | 31 @, 2022 i GHE ¢ 9N H,

H91 9 T "W % I T 10,000 Uid HIE T SEO fRAT B
ST W SIS 6% Tk e & Y9I foram ST o7 |

31 AT, 2022 %! FATG gL aY H 1 % M@ T A BRI

(a) ¥ 3,900 (b) T 325
¢ T 3,600 @ ¥ 3,300
Tt

faum Qe oo U wH W WiEER § | 31 HrE, 2022 % GHIG ¢ 9N H
AR 4 T fqHTEl % T=d T T 1,000 hT TR fhaT § | AT W
SIS <l T <hY 3iEd sraty B

1

1 1
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(ii)  Pooja, Nita and Anita were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Pooja retired and her share is taken
up by Nita and Anita equally. The new profit sharing ratio of Nita

and Anita will be : 1
(a) 2:1 (b) 7:5
(c) 1:1 (d) 3:2

12. That portion of the uncalled capital which is called only in the event of
winding up of the company, is called : 1
(a)  Called-up capital
(b)  Uncalled capital
(c) Issued capital
(d)  Reserve capital

13. Aman and Chaman are partners in a firm. On 1St July, 2021 Aman
advanced a loan of ¥ 6,00,000 to the firm. There is no partnership deed.
On 318t March, 2022, Aman was entitled to get the following amount as

interest on loan : 1
(a) < 36,000 (b) ¥ 18,000
(c) T 9,000 (d T 27,000

14. @) Hina and Neena are partners in a firm. Neena withdrew ¥ 10,000

per month at the beginning of each month during the year ended
315t March, 2022. Interest on drawings was to be charged @ 6% per

annum.
Interest on Neena’s drawings for the year ended 315t March, 2022

will be : 1
(a) T 3,900 (b) T 325

(c) T 3,600 (d < 3,300

OR
(i1))  Vibha and Asha are partners in a firm. Asha withdrew ¥ 1,000 at
the end of each quarter during the year ended 315t March, 2022.

Interest on drawings will be calculated for an average period of : 1
(a) 6 months (b) 4% months

1 1
(c) 7 ) months (d) 65 months

67/1/3 ~~~ Page 11 P.T.O.



15.

16.

17.

67/1/3

b T 9 T 100 I &1 U 791, ™E 20% Nftem w fFrifa fear mn
oT, T 30 W 3T hl JeM A=A a1 T 10 T 391 hi SAfqH A=A 1 YA
T W, W R T | =Ead qod N8 W 39 ST ol QA TR S

Hohdl 3 :
(a) T 40 b)) T 60
e T 20 d T 100

1)

(i1)

srferar fafies 9 T 4,70,000 i g IR & I oI % acal
T 5,00,000 % qUT Y& 37T 1 A fRAT | T 30,000 % W i @A
R i< - S - i1 e

(a) AT, 919 98

(b) ISt E=, 9 &

(c) Uit &=, ST 9&

(d) W= 9=, ST 98

D]
aeu fafiees 9 gua fafieg &t = 12,00,000 1 gfEeafei qen
T 4,00,000 T IR hHI T 9,00,000 h T oI T (UG i hl
FEAfd & | Yo 1 PTAE T 100 T&H & 11% FOEAT 1 10% 8 T
fortgg s &3 o | Trifia feru ww koot <Rt g gt

(a) 9,000 (b) 10,000

(c) 8,000 (d 11,000

o, Wi YT TSN UH BH § HEIGR U qAT 3 : 5 : 2 % U H H-gIH
fawifa st 9 | 1 3189, 2022 1 Wi FETHEd 8 T8 | AR, S a9
Gfad oyl o1fe § Tafaq gt THRISHT 1 i o I9aTq IadT a2 ST o gt
Qral § ShHS: T 3,00,000 AT T 1,00,000 T ST I A7 | I8 fuiy foram m o
FoIdT QAT AT T ISt 1 b T ery-fardrem Squra § womifsa foam S |

AT URET A 3TUET e T hl 3Ta9deh UsHm=T Jfafseal hifs |
39 R Hl W Y F e |
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15.

16.

17.
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Zinki Limited forfeited a share of ¥ 100 issued at a premium of 20% for
non-payment of first call of ¥ 30 per share and final call of ¥ 10 per

share. The minimum price at which this share can be reissued is :
(a) <40 (b) < 60
(c) T 20 (d ¥ 100

(i) Akshita Ltd. issued fully paid shares of ¥ 5,00,000 in purchase
consideration of net assets of ¥ 4,70,000. The balance of ¥ 30,000

will be to account.
(a)  debited, Goodwill
(b)  debited, Capital Reserve

(c) credited, Capital Reserve

(d) credited, General Reserve

OR
(ii) Maira Ltd. took over assets of ¥ 12,00,000 and liabilities of
T 4,00,000 of Subav Ltd. for an agreed purchase consideration of
< 9,00,000. The amount was payable by issue of 11% debentures of
T 100 each at 10% discount. The number of debentures issued will

be :
(a) 9,000 (b) 10,000
(c) 8,000 (d) 11,000

Shweta, Meenu and Asha were partners in a firm sharing profits and
losses in the ratio of 3 : 5 : 2. Meenu retired on 15t April, 2022. After
making all adjustments relating to revaluation, goodwill and
accumulated profits, etc., the capital accounts of Shweta and Asha
showed credit balance of ¥ 3,00,000 and ¥ 1,00,000 respectively. It was
decided to adjust the capitals of Shweta and Asha in their new profit

sharing ratio.

Pass necessary journal entries for bringing in or withdrawal of the

necessary amounts involved. Show your working clearly.

~~~~ Page 13 P.T.O.



18.

19.

20.
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Tffar, €T, TS AT Afeid Ueh %H H TSR o 97 3:2: 4 : 1 & 34 o
ATY-BT o7 fIwo & & | 1 3799, 2022 ¥ I8 AHBIH Bl 5:1:2: 2
% 31urd ® fawifa e 1 faofe fomn | sa fafa o6t & 6 @i o1 g
T 5,20,000 fRIT AT AT YEaehl H W €@=F T 1,00,000 S TET AT |

3TIh e o ToTu. 3rawres Ut gfafseai Sifve | 3794 SR &1 T €9
¥ g3y |

(%)

wag fdfides 9 T 10 38 & 1,00,000 3= sl 10% AT
a1fyeE @ fore sHar vt feifia foram | weqol ofy stegr w e off
3,00,000 3T % fIQ A& g6 FC qo1 i€ 4 Hoim forn fob wdfl
STYTIET =1 AT SATIR T3 T ATeH HL T AT |
e fdfide i geashl H ST oHedl o T STewdeh  UsHIE
gafeear i |

3T
e fafiee 9 @t fafies 1 T 60,00,000 &1 giEwfar qen
¥ 10,00,000 ! IATE T 45,00,000 % T oI T T+ h! A o |
TR 1 PTaE T 100 T&H b 10% TGN Sl 25% Hiftem = fifaa
ek fohaT ST o |
vigq fafade Hi geaenl O IUYHE Gl oh [oIU STETIh  USHTH]
gfafsear i |

1 379, 2022 1 AT qA HgG H BH I g T 1,50,000 7 | TR

ISt T T W @ 10% @ | W % Ifed A T 23,500 7 |
STIRTHT < T a1 o 3h oh SMUR T HH shi BT 31 TUMET HIT |

T
Tfard qom Afcieh Teh %H H WISIGR & 991 4: 1 o 3TId H ATH-TH I
fauem #td & | 1 31, 2021 I I S A T 1,20,000 AT
T 80,000 off | 1 fearer, 2021 =1 I8 Foig fon fo wd 61 A St
T 3,00,000 gFft freh fofu 36 g7 2:1 % 1qud § JmgH T
@ |

TSl Oci@ o 3TN, ATeIGRI &l 6% dTNeh &t & Yofl W oA G
@ |

31 |, 2022 I THTH B dTct 98 § Yofl W U I et a1 <l 7o
T |
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18.

19.

20.

67/1/3

Sangeeta, Deepa, Ajay and Lalit were partners in a firm sharing profits
and losses in the ratio of 3 : 2 : 4 : 1. They decided to share profits and
losses in the ratio of 5 : 1 : 2 : 2 with effect from 15t April, 2022. On this
date, the goodwill of the firm was valued at ¥ 5,20,000, General Reserve
appeared in the books at ¥ 1,00,000.

Pass necessary journal entries for the above transactions. Show your

workings clearly.

(a)

(b)

(a)

(b)

Annex Ltd. issued 1,00,000 shares of ¥ 10 each at a premium of
10% to the public for subscription. The whole amount was payable
on application. Applications were received for 3,00,000 shares and
the board decided to allot shares to all shareholders on pro-rata
basis.

Pass necessary journal entries for the above transactions in the
books of Annex Ltd.

OR

Shovan Limited took over the assets of ¥ 60,00,000 and liabilities
of ¥ 10,00,000 from Swami Limited for an agreed purchase
consideration of ¥ 45,00,000. The amount was payable by issuing
10% debentures of ¥ 100 each at 25% premium.

Pass necessary journal entries for the above transactions in the
books of Shovan Limited.

On 18t April, 2022, the capital of the firm of Ashu and Madhav is
T 1,50,000. The normal rate of return on capital employed is 10%.
Average profits of the firm are ¥ 23,500. Calculate goodwill of the
firm based on three years purchase of super profits.

OR

Rakshit and Malik are partners in a firm sharing profits and losses
in the ratio of 4 : 1. On 15t April, 2021, their capitals were
¥ 1,20,000 and ¥ 80,000 respectively. On 15t December, 2021, they
decided that the total capital of the firm should be ¥ 3,00,000 to be
contributed by them in the ratio of 2 : 1.

According to the partnership deed, interest on capital is allowed to
the partners @ 6% p.a.

Calculate interest on capital to be allowed for the year ending
315t March, 2022.

3
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21.

22,

67/1/3

a1 fafiee i 3Afeha ISt T 40,00,000 7 ST T 10 TR & GHAT 90 |
fawifsra 8 | 9t 9 80,000 311 w1 Fifid o & foiw 3meed rmba fou |
78,000 319 % ¢ (e W BY | @ AEE WA ot T qUT KA
1,500 3T W T 2 Ui 3730 <hl 999 Ta 3FqH Ir=FT TR bl Bt Tt Tisn
ITH &1 TS | 3 37 T &1 L foram T |

(%) ol rfufm, 2013 & ST III, 9 I o AR Hudt & feafa
foraor & “o7er 4ol =l gwIfEw |

(@) 3 o fau @ral & Aed o TR i |

e, <9 qe 99 Teh B4 | GT3ER o a1 2: 2 : 1% I H ATH-IH 1
foamem vt 9 |1 31 |, 2022 it 3T fEufa foawor 1 ywr @ o

31 WT, 2022 i IR, Eides qer Taita o1 ferta foemo

SRR 50,000 | W Td wed 2,10,000
= = 1,00,000 | H=f=RY 1,90,000
) 1,20,000 | ¥k 30,000
g BER 1,70,000
g4 1,60,000 ENICERCEITRCIR] 1,20,000
[{EED 1,50,000
EEIE! 1,40,000 | 450,000
7,20,000 7,20,000

30 S, 2022 I GER I g 71 TS | HEIGR hHl I W AEieH dor@ § e
bl YUTdYTq AT

(i)  H I TN I Yoo TS IR aui o 37{d @, s T 1,80,000
%,552% N1 o ShT o IMYUR W foram STam |
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21. Tanay Ltd. has an authorised capital of ¥ 40,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 80,000
shares. Applications for 78,000 shares were received. All calls were made
and duly received except the first and final call of ¥ 2 per share on 1,500
shares. These shares were forfeited.

(a)  Present the ‘Share Capital’ in the Balance Sheet of the company as
per Schedule III, Part I of the Companies Act, 2013.
(b)  Also prepare ‘Notes to Accounts’ for the same.

22. Sudhir, Deepak and Naveen were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. On 315t March, 2022 their Balance Sheet
was as under :

Balance Sheet of Sudhir, Deepak and Naveen as at 315t March, 2022
A t A t
Liabilities T2 | Assets e
Creditors 50,000 | Land and Building 2,10,000
General Reserve 1,00,000 | Machinery 1,90,000
Loan 1,20,000 | Stock 30,000
Capitals : Investments 1,70,000
Sudhir 1,60,000 Advertisement 1,20,000
Suspense A/c
Deepak 1,50,000
Naveen 1,40,000 | 4,50,000
7,20,000 7,20,000
Sudhir died on 30t June, 2022. The partnership deed provided for the
following, on the death of a partner :
1) Goodwill of the firm was to be valued at 2% years purchase of
average profits of the previous four years which were ¥ 1,80,000.
67/1/3 ~ v~~~ Page 17
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(i) T 1 Tl qoh AW A¥aT 6 H G o6 AET I 0T Toshd o STTER
g SEf | 31 7, 2022 S GHE B a1 o8 A fosea h afy
T 4,00,000 off TAT 1 T, 2022 T 30 d 2022 Tk TosRa hT TR
T 1,50,000 ot | 31 e, 2022 ! FHH BT a¥ H AW T 1,00,000
o |

(i) dSft W 79 arfies X & st fean s |
et & fsargent o1 g o fote 39et $6ft @rar T i |

23. (%) A AN IR TH BH H ARG 9 qAT 3 : 1 % UM H ATH-FIH B
fovmem St 9 | 31 9, 2022 i 3R feufa e f weer o
31 W, 2022 i T qAT IR 1 fearte feaawon
SEALE 41,000 | 99 Ug U3 60,000
Q= = 80,000 | Wa 40,000
e I 12,000 | e 60,000
g ik 50,000
T4 79,000 TR 38,000
Ci 48,000 197,000 | 2 : Hiwd Hl &
= e g@EE 4,000 34,000
Uhs 16,000
2,60,000 2,60,000

67/1/3

1 31, 2022 F IET e § % W % fore et wat @ aw 5 e

weret fear

(i) I AU Yoil qAT 3T HAT o @A FR=H & T 4,000 TG

|

(i) a1 gt T 68,000 foham T |
(iii) TIF T AR R 10% HeIg™ =T A |

YHEATRA QAT qAT HIBIERI o Yol @Td dIR HINT |

AASAT

a2 2o 2o 4
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23.

67/1/3

(i1)

(iii)

Sudhir’s share of profit or loss till the date of death was
to be calculated on the basis of sales. Sales for the year
ended 315t March, 2022 amounted to ¥ 4,00,000 and that from
15t April, 2022 to 30t June, 2022 amounted ¥ 1,50,000. The profit
for the year ended 315t March, 2022 was ¥ 1,00,000.

Interest on capital was to be provided @ 7% p.a.

Prepare Sudhir’s capital account to be rendered to his executors.

(a)  Yuv and Veer were partners in a firm sharing profits and losses in
the ratio of 3 : 1. Their Balance Sheet as on 315t March, 2022 was
as under :

Balance Sheet of Yuv and Veer as at 315t March, 2022
Liabilities Am;unt Assets Am;unt
Creditors 41,000 | Plant and Machinery 60,000
General Reserve 80,000 | Building 40,000
Outstanding Expenses 12,000 | Investments 60,000
Capitals : Stock 50,000

Yuv 79,000 Debtors 38,000
Veer 48,000 | 1,27,000 | Less : Provision for
Doubtful Debts 4,000 34,000
Cash 16,000
2,60,000 2,60,000

They decided to admit Yash in the firm on 15t April, 2022 for

i share in profits on the following terms :

(1) Yash will bring in proportionate capital and ¥ 4,000 as his
share of goodwill premium in cash.

(i1) Investments were valued at ¥ 68,000.

(iii) Plant and Machinery was to be depreciated by 10%.

Prepare Revaluation Accounts and Partners’ Capital Accounts.
OR
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67/1/3

(@) 791, STYSHH 1§91 Th BH | TSGR 9 QAT 5 : 3 : 29 IJ4Td |
AT T a9 td o | 31 |, 2022 =t 31 fefq faeror

ThlT AT :
31 WTE, 2022 T TV, ATISHTH TAT AT T el forawon
N rlfr e m:;
IEIEERNEHEN 2,20,000 | Ths 1,60,000
a9 1,20,000 | &TeR 1,80,000
| =T : "iey =l
' T g@g™ 20,000 1,60,000
DIN 6,00,000 ih 2,00,000
IHE  5,00,000 BRIER] 6,00,000
a1 3,00,000 | 14,00,000 | W 4,00,000
Erors| 1,20,000
ATH-FIH @ 1,00,000
17,40,000 17,40,000

Iugeh fafer sl AT HeriHee &1 T SR e W HEhld 5

(i) T HATHgd W wH i AT BT e T 12,00,000 TR
T |

(i)  TISHM qAT A=A WS § i 1 GO9S 2 : 3 o U |
w4 |
(iii) T 40,000  Ush AfTRgd A-CR ohl oRGT T TT |

(iv) ¥ 30,000 % TIGRI %l TFd RO & &4 H UfGIRgd HL TG
STTE |

(v) {3791 I ¢ TR T 0T 35 0T @Id § o feam 7 |
®H T &l H ITYTH THCAT o ToTT AT UemHen Sfafsaf hive | 6
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(b)

Reyansh, Aayushman and Sabhya were partners in a firm sharing

profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as at

315t March, 2022 was as under :

Balance Sheet of Reyansh, Aayushman and Sabhya as at 315t March, 2022

A t A t
Liabilities T2 | Assets i
Sundry Creditors 2,20,000 | Cash 1,60,000
General Reserve 1,20,000 | Debtors 1,80,000
. Less : Provision for
Capitals :
Doubtful Debts 20,000 1,60,000
Reyansh 6,00,000 Stock 2,00,000
Aayushman 5,00,000 Machinery 6,00,000
Sabhya 3,00,000 | 14,00,000
Building 4,00,000
Patents 1,20,000
Profit and Loss A/c 1,00,000
17,40,000 17,40,000

67/1/3

Reyansh retired on the above date and it was agreed that :

(1) Goodwill of the firm on Reyansh’s retirement was valued at

T 12,00,000.

(ii))  Aayushman and Sabhya will share future profits in the ratio

of 2 : 3.

(i11) An unrecorded creditor of ¥ 40,000 will be taken into

account.

(iv)  Debtors of T 30,000 will be written off as bad debts.

(v)  Amount payable to Reyansh was to be transferred to his

loan amount.

Pass necessary journal entries for the above transactions in the

books of the firm.

-~~~ Page 21
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24.

67/1/3

STCT TR ST Th BH | ATEGER o qAT 3 : 26 I H AWM 1 faweH
A A | 31 HE, 2022 i 371 Tyt foawor g g o

31 HTH, 2022 k1 ATIEIT a7 A=4T97 61 Teerfa feramor

AER 90,000 | % T Ths 20,000
Syt aATfesT 1 o 30,000 | T 24,000
SIS hT 3R] 30,000 | e 30,000
T T 45,000 | STER 20,000
h ST : Gy RO &
' @ geEgE 2,000 18,000
st 1,00,000 L DF 1,00,000
SRIN 97,000 | 1,97,000 | fasimam 3=fa @ran 2,00,000
3,92,000 3,92,000

31 9T, 2022 Wi HHRad ¥l W ®H 61 foered 8t 7 :
() e F T 17,000 HT G g a0 GIF H TEqh Yod § 10% Ak

T TG 73 |

(i)  offew 7 sfiudt oTfey = KU1 I YPIAH HHA H1 a1l fhAT qAT T H

¥ 20,000 & form |

(iii) ST 9 Y o™ 10% ¢ W o T | 9w fesn @ = 4,500 61 It

T |

(iv) THFERI &1 YT 10% T2 T T fean = |

(v) S 2 T 7,000 9 |

JHSA @IaT RN AT |

a2 2o 2o 4
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24.

Aadish and Shreyansh were partners in a firm sharing profits and losses
in the ratio of 3 : 2. On 315t March, 2022 their Balance Sheet was as

follows :

Balance Sheet of Aadish and Shreyansh as at 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Creditors 90,000 | Cash at Bank 20,000
Mrs. Aadish’s Loan 30,000 | Stock 24,000
Shreyansh‘s Loan 30,000 | Investments 30,000
General Reserve 45,000 | Debtors 20,000
. Less : Provision for
Capitals :
Doubtful Debts, 2,000 18,000
Aadish 1,00,000 Plant 1,00,000
Shreyansh 97,000 | 1,97,000 | Advertisement Suspense
account 2,00,000
3,92,000 3,92,000

67/1/3

The firm was dissolved on 315t March, 2022 on the following terms :

(1)

(i1)

(iii)

(iv)
(v)

Debtors realised ¥ 17,000 and plant realised 10% more than the

book value.

Aadish promised to pay Mrs. Aadish’s loan and took away stock at

Z 20,000.

Shreyansh took away half of the investments at a discount of 10%.

Remaining investments realised ¥ 4,500.

Creditors were paid off at a discount of 10%.

Expenses of realisation amounted to ¥ 7,000.

Prepare Realisation Account.

a2 2o 2o 4
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25.

67/1/3

(%)

fr ofifeafei @ omli & &0 w@ AR i SavEe UsHmEE

gafsear i -

i) N H S AR I T 10 79S & 75 31 o+, ™R T 4 9fq I
fiftem W frifya b mn o, & 8 wfa ofw (Hfiem @feq) i
JTee TR T YIaH 7 i W, &0 R T | T 4 9fd 3791 i
Yo Td SAfa| T T o1t "7 98 TS oft | &or foRu U e
I T 15 gid 379 IUf Sed gH: Frifia e fem T |

i)  Thfaeer fafies 3 T 50 wfd o1 % 1,200 3791 i, g ¥0 oI
X frifia foram o o, € 10 wfa o9 1 <1fam Ir=ET @1 yTaH
T T W, BT R TR0 | S0 F 900 M I T 45 T 37 qUI
Yoot g frifia ot feam mam

SPOC)]

gseht Tt 4 T 100 T o 30,000 37 1 20% Hifem w fifia

H & U smeed smmba fpe | ufa ofw afsr w1 ymam = seR @

a?IQJT:

A W — T 40 (T 10 Hfrm afzad)
3eed W — T 30 (T 10 fwem &fza)
g A=A W — T 30

o wa sifaw = @ — 9

40,000 3 % AU @S Ued gL qAT 35,000 AT % IMEGH hl

TR STTee T T T | AW TeGH! i 3TEThd o feam T |

IS W YTed ATANTR ST b1 U 37eed W ¢ TR § wL fen

T |

T, fEa 700 379N & oI mrerga T o, ereies Uiyt &1 ymae s

H 3TIhA TG AR AT o qd I9aTd 34 3701 1 g1 L form T |

3Geh A1G TUW ATEAT AT TG AT T AT W <F At TR rd |

TS | fodltar wal sifem e 8 #idt g |

sl TAfeE sl qeashl H IUYH el & T Tawdesh U=

gierfsar Hifv |
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25. (a) Pass necessary journal entries for the forfeiture and reissue of
shares in the following cases :

(1) BCG Limited forfeited 75 shares of ¥ 10 each issued at a
premium of ¥ 4 per share for non-payment of allotment
money of ¥ 8 per share (including premium). The first and
final call of ¥ 4 per share was not made. The forfeited
shares were reissued at ¥ 15 per share fully paid.

(i1) Geetika Limited forfeited 1,200 shares of ¥ 50 each issued
at par for non-payment of final call of ¥ 10 per share. Out
of these, 900 shares were reissued at I 45 per share fully
paid-up. 6

OR

(b)  Pushkar Limited invited applications for 30,000 shares of ¥ 100
each at 20% premium. The amount per share was payable as

under :
On application — ¥ 40 (including ¥ 10 premium)
On allotment — ¥ 30 (including ¥ 10 premium)
On first call - ¥ 30
On second and final call — Balance
Applications were received for 40,000 shares and pro-rata

allotment was made to the applicants for 35,000 shares, the
remaining applications being refused.

Excess application money was adjusted towards sums due on

allotment.

Yogesh, who applied for 700 shares, failed to pay the allotment
money and his shares were forfeited immediately after allotment.

First call was made thereafter and all the money due on first call

was received. The second and final call was not made.

Pass necessary journal entries for the above transactions in the
books of Pushkar Limited. 6
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27.

28.

67/1/3

sft fafiee 6 gl ° f=fefga oAl & fou worst & frfae @ wefa

TSI USHH= gfafesedi i .

(%) T 100 Y% & 3,000, 7% FOGA I 10% Hfrem w it fea,
ot wMum 5% Hftrem w feran Srom |

(@) T 100 T3 & 2,000, 8% TG 1 10% Hifem w frifa foham,
ST Teq Tmees | fopan Smem |

() T 100 IFH & 1,000, 9% FOGHAT Bl 10% G W Frifaa T, Saem
med 10% Hiftem o feran Srom |

R &
faea - 1
(Terfr=r feramomt =1 fergewon)

Uhg T8 Taeur s g0y Ffcifigd § & -8 w9ei o foxia nidfatemt
o 3T=dTTd SRIAT SITE
G)  THdr TS0 1 e

(i) TIe § Ued Uhs

(iii) RIS T AEA
(iv) IR ST o faeg Yrae foram T Tehg

&l faeed 1 =9 ShIfST
(a) @

(b) (1) dT (11)

(c) (1) AT (111)

(d) (D), 1) dA (iv)

@  Trafafes & & S-an adieo o 2
(a) T O WM sl ATd = e & ATH + Tehed ATH
(b) TETEH ® AWM hl ANA = IS Wi — g T + TIH =
— 3y =i
(¢) TATEM § 3T sl AT = AR Teieh + ATdH i
(d) TETEH W W sl AN = J=TeH 8 3R — Hehad oTY

AT

-~~~ Page 26



26.

27.

28.

67/1/3

Pass necessary journal entries relating to issue of debentures in the
books of Shree Ltd. for the following transactions : 6

(a) 3,000, 7% Debentures of ¥ 100 each are issued at 10% premium,
redeemable at a premium of 5%.

(b) 2,000, 8% Debentures of T 100 each are issued at 10% premium,
redeemable at par.

(c) 1,000, 9% Debentures of ¥ 100 each are issued at 10% discount,
redeemable at 10% premium.

PART B
OPTION -1
(Analysis of Financial Statements)

Which of the following transactions are shown under financing activities
while preparing cash flow statement : 1

i) Issue of Equity Shares

(ii))  Cash Received from Debtors

(iii) Redemption of Debentures

(iv) Cash Paid Against Trade Payables
Choose the correct option :

(a) @

(b) (1) and (i1)

(¢) (i) and (iii)

(d (), (i) and (iv)

(1) Which of the following equations is correct : 1

(a) Cost of Revenue from Operations = Revenue from
Operations + Gross Profit

(b)  Cost of Revenue from Operations = Opening Inventory — Net
Purchases + Direct Expenses — Closing Inventory

(c) Cost of Revenue from Operations = Opening Inventory +
Closing Inventory

(d)  Cost of Revenue from Operations = Revenue from Operations
— Gross Profit

OR
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30.

67/1/3

(i1)

o 0

g—lﬁﬁ%ﬁ\@ﬁ T ¥ -9 o foawon & fovawor 1w Iushr/adien
i)  Uehg Yarg foerm

(i)  Y-gTH Toawon

(iii) @Tal = AeH

(iv) et foawo

e fasheq &1 ==[ FifT .

(a) @

(b) @) 3 (i)

(c) (i)

d @), () AR (iv)

BRI

(a)
(c)

1)

(i1)

Rad g=-1 9§ ‘wiie iy’ g

o] TNEH T T 20,00,000

T giEE T T 40,00,000

ehTefia 3aR T 25,00,000

e 31T 25%

T 10,00,000 (b) ¥ 14,00,000
T 24,00,000 d T 15,00,000

T Tofia 399 g0 YA R e ey’ ke WaTE foeRer A a9
Fr=feifaa @ @ fopm nfafafyr & st=aria e .
(a) IETed Tfdfafa
(b) T mfafafy
(c) Tocfta nfafafer
(d) @I (b) T (c)
S DE)
Teh S ITW g Faw W ed =4 Ushe T8 foaior s91d 99
frfafea o o foem nfafafe & st smom -
(a) Toorr nfafafe
(b)  Torcit Ticfare
(c)  SeITe Tty
(d @M (b) 99T (c)
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30.

67/1/3

(ii))  Which of the following is a tool of Analysis of Financial
Statements : 1

(1) Cash Flow Statement

(ii)  Statement of Profit and Loss
(iii)) Notes to Accounts

(iv) Balance Sheet

Choose the correct option :

(a (@

(b) (1) and (i)

(c) (1)

(d) (), (i1) and (iv)

From the following information, the ‘Proprietor’s funds’ are : 1
Current Assets < 20,00,000
Non-Current Assets < 40,00,000
Long Term Borrowings T 25,00,000
Proprietary Ratio 25%

(a) ¥ 10,00,000 (b) < 14,00,000

(c) < 24,00,000 (d < 15,00,000

(i) ‘Dividend paid’ by a financial enterprise will come under which
kind of activity from the following while preparing cash flow
statement : 1

(a)  Operating Activity
(b)  Investing Activity
(c) Financing Activity
(d)  Both (b) and (c)

OR
(ii)  ‘Interest received on investments’ will come under which type of
activity from the following, while preparing cash flow statement of
a non-financial enterprise : 1

(a)  Investing Activity
(b)  Financing Activity
(c) Operating Activity
(d)  Both (b) and (c)
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31. Ut AfufEm, 2013 i JF 1L, W I & AR f=feriad wei i St &
eI foreRor § & 3Mveh] 4T IU-3MhI (ATG IS &) o F=HId aifihd hHiT @ 3

(%) YSTa S WG W
(@) AW I

() HEYL AR

32. ‘gz feufa faewor qen ey foawo < fafte wel & = 3faa ey wnfug
b BH bl Ta- dmehdl T AT bl UgaHS hl Ufsham & | Tfshan <

R HITT qAT TZAHT TS UfHAT % < ILeA! I IFW Y | 3
33. () IR Y1 9 Tha oW STTITA ohl TUHT HINT : 4
Thee (Tefeh) AT AU : 6 T

3T Thy (Vi) : T 4,00,000

o1 <h! Toshl ATTd W 25% 19 9 hl 178

arera

(i) UH HEA H AL U@ 2 0 18 | HRU &d g Ieai@ I o
ffctiad THGHT § I8 STUId 9, =M A1 HH IS I gl 8l @ 4
(a) ¥ 40,000  HTA T IUR 63
(b) T 2,000 ! BT W T 8,000 h =X <hl fershl
(¢ SAURIT H T 15,000 i Thg wIfed

d ¥ 6,00,000 % GHAT 37 HT FE
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31.

32.

33.

67/1/3

Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(a)  Capital work in progress
(b)  Calls in advance

(c) Computer software

‘It is the process of identifying the financial strengths and weaknesses of
the firm by properly establishing relationships between the various items

of the Balance Sheet and the Statement of Profit and Loss.” Identify the

process and state two objectives of the process identified. 3
(i) Calculate Gross Profit Ratio from the following information : 4
Inventory Turnover Ratio : 6 times
Average Inventory . T 4,00,000

Goods are sold at a profit of 25% on cost
OR

(ii) The Current Ratio of a company is 2 : 1. State giving reasons,
which of the following transactions would improve, reduce or not

change the ratio : 4
(a)  Purchased goods on credit ¥ 40,000

(b)  Sale of furniture of ¥ 8,000 at a loss of T 2,000

(c) Cash received from trade receivables ¥ 15,000

(d)  Issued equity shares T 6,00,000
~~~~ Page 31 P.T.O.



34. fafafea wcufie @ =1 gfer qor 39 smur W feu Uyt &% I
AT
2011 # 3 JaT WRAT JAEI, deme Wi qen foas wifean 4w i
3TEl qIeA TREY i 1 (01T for | 30 99 SR | *is Y@ Raae 16l o
3R IBH 39 HHT I U HE P FTH <@ | I8 Th ITANRAl AUl
JeHTEe U HIETsd W9 1 T fohan f&eh g0 Iwammehdisti o e S1qaem™
Tk hR AT JAEHE & T | 2018 H 38 ‘&R 3ot fafee’ st § uiafdd
L T |
31 9T, 2022 i HrHT & Fefatad feafa foawor @ ‘e nfafafirn @ Ows
TaTg <hl TUHT HIFY |
31 W, 2022 ! ‘&R gt forfiree’ 1 feafa feremon
P :ﬁz 31.3.2022 31.3.2021
. T T
I - |HAT TS GIaTG
1.  ITUAs$ Y
(%) 7= goit 9,00,000 3,00,000
(@) =g W@ AT 1 75,000 3,60,000
2. IR A
HepTela 3R 2 2,40,000 1,80,000
3. e <A
(%) SAUR T 18,000 60,000
(@) IRl Taa™ 3 2,04,000 2,10,000
E3 14,37,000 11,10,000
II - gfErg T
1. IR aRewfEt
Torft ittt 4 10,08,000 5,76,000
2.  =Tq REHfEt
(%) ik 3,54,000 3,87,000
(@) Ushg W@ Uhg oo 75,000 1,47,000
EX 14,37,000 11,10,000
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34.

67/1/3

Read the following hypothetical text and answer the given questions on
the basis of the same.
In 2011, two young Indian entrepreneurs, Vaishali Bhatia and Vivek
Bhatia decided to start an online auto portal. At that time, there were no
major players in the market and they saw an opportunity to fill the gap.
They used a user-friendly website and mobile app which made it easy for
users to research and buy cars. It was converted into a company ‘Car
Easy Ltd.” in 2018.
From the following Balance Sheet of the company as on 315t March, 2022,
calculate ‘Cash Flows From Operating Activities’.

Balance Sheet of ‘Car Easy Ltd’ as at 315t March, 2022
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Particulars Note | 31.3.2022 | 31.3.2021
No. T T
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 9,00,000 3,00,000
(b) Reserves and Surplus 1 75,000 3,60,000
2. Non-Current Liabilities
Long-term Borrowings 2 2,40,000 1,80,000
3. Current Liabilities
(a) Trade Payables 18,000 60,000
(b) Short-term Provisions 3 2,04,000 2,10,000
Total 14,37,000 | 11,10,000
II - Assets :
1. Non-Current Assets
Fixed Assets 4 10,08,000 5,76,000
2. Current Assets
(a) Inventories 3,54,000 3,87,000
(b) Cash and Cash
Equivalents 75,000 1,47,000
Total 14,37,000 | 11,10,000
~a~

P.T.O.



it 31.3.2022 | 31.3.2021
g. AR T T
1 | 9= Ug Iniee
TR AT AT9-gTH farawer &1 3w 75,000 3,60,000
75,000 3,60,000
2 | deleprefia 3uR
10% o9 2,40,000 1,80,000
2,40,000 1,80,000
3 | TR JEe™
EZICRIE] 2,04,000 2,10,000
2,04,000 2,10,000
4 | Tl gfetaat
EENIEE 11,52,000 6,45,000
gfad qeag (1,44,000) (69,000)
FA 10,08,000 5,76,000
SAIaR® Gl :

1) 10% o9t o1 e 81 |, 2021 i foham T |
(i) ¥ % GH T 80,000 T HT YTAH R T |

WA @&
foweu - 11
IR CaERSICIET))
27. <9 fafte @l @ wfad Afwsl o Th 9) H ThANE b ST 8, d 98

HEATAT B
(a) ATl THI Tshuul
(b)  EHE TshHUI
(c)  3Afeher deftentor
(d)  TSRHY qAl g IR
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Notes to Accounts :

Note ) 31.3.2022 | 31.3.2021
No. Particulars - -
1 Reserve and Surplus
Surplus i.e. Balance in Statement of
Profit and Loss 75,000 3,60,000
75,000 3,60,000
2 Long-term Borrowings
10% Debentures 2,40,000 1,80,000
2,40,000 1,80,000
3 Short-term Provisions
Provision for Tax 2,04,000 2,10,000
2,04,000 2,10,000
4 Fixed Assets
Machinery 11,52,000 6,45,000
Accumulated Depreciation (1,44,000) (69,000)
Total 10,08,000 5,76,000

Additional Information :

(1)
(ii)

PART B
OPTION -11

10% Debentures were issued on 315t March, 2021.
Tax of ¥ 80,000 was paid during the year.

(Computerised Accounting)

27. When the accumulated data from various sources is processed in one
shot, it is called :

(a)
(b)
(c)
(d)

67/1/3

a2 2o 2o 4

Real-time processing
Batch processing
Data validation

Processing and Revalidation
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28. (1) TG AT AT o TR H A T A oh [T @I AT 3qaA Sl
3= YA € ST 83 &Il &, i H 2 :

(a) Uhg Ud Soh 3T

(b) =TT AWThd 39dd

(c) AT 39ad

(d) 3Ifaw @rd 3udA
AgAT

(i) 3TYe Aihel hl fordll o7eTa el & g H HT IfhaT Faard 2
(a) 3RS LT

(b)  ATeheT U
(c) T AThe
(d) WS 3Aihe

29. (i) IS Thehe h Iol?qehleiﬁ?ﬁ%‘

(a) AW shigd i Iaatd & forT |

(b)  @ral, SldeieHi, 3¢ sl gifard WA @ o |

(c) ATl ol MiUd W (TAHSM) & fou |

(d) 3Rl o IEH Tishav o foru, 3fq fepie W & fou |

AYAT

(i) & @R el i AT 9gd A Bl @AY %o FHAT S8d
At Bl 8, ST e & faw =faifgd § & SI9-91 Hiveas) Uohs
I9Yh B @

(a) fafere

(b) I o AAR (CA8)
(¢ ami fafre @ eas

(d) GE=
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28.

29.

67/1/3

(1)

(i1)

(1)

(i1)

The name of accounting information sub-system which is linked
with other sub-systems for obtaining information about cost and

expenses is : 1
(a) Cash and Bank sub-system

(b)  Expense Accounting sub-system

(c) Costing sub-system

(d)  Final Accounts sub-system

OR

The process of comparing input data with some unknown data is
called : 1

(a) Data validation
(b) Data entry
(¢) Information data

(d)  Storage data

The need of codification is for : 1
(a)  The generation of mnemonic codes.

(b)  To secure accounts, reports, etc.

(c) The encryption of data.

(d) Easy to process data, keeping proper records.
OR

Which of the following software packages is suitable for an
organisation where the volume of accounting transactions is very

small and adaptability is very high : 1
(a)  Specific

(b)  Tailored

(c) Specific and tailored both

(d)  Generic
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30. TUeh AR AR TAST HAT hl YRUMH HagATdl & :

(a) Y= /T Hed

(b)  HAHd HcA
(c) &Y qed
d) &fS g

31. TI@Ih HIF Iofl o 99 H @ral o g ol a9=sy |

32. ‘A= A (FEET)’ HH i i i Ty |

33. (%) ‘SAThsl TWEUU T 7 ? Th U MU 2Afhs &l T@&Ud A & fore fom
YO T TN Tk ST 8 2 THEST |

AASAT

(@) TG ATFCAT o TS ST hi T FET |

34. UH A9 & GauH goF’ 1 FA1 7 g ? Hehl MMAT H TR H Il fo
B hl THHATST |
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30.

31.

32.

33.

34.

67/1/3

The outcome of an arithmetic expression or function is called :
(a)  Derived Value

(b)  Basic Value

(¢)  Vertical Value

(d) Horizontal Value

Explain ‘Group of Accounts’ with reference to Accounting software Tally.

Explain the methods of ‘voucher numbering’.

(a) What is ‘data formatting’ ? What tools are used to format a given

data ? Explain.

OR

(b)  List eight uses of accounting software.

What is meant by ‘Present Value’ of an investment ? Explain the

financial function which helps in its calculation.
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